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SOLUTIONS HAMBLIN SMITH'S ARITHMETIC.

I—Page 49. \

1. Number = CL C M nf iq ir{^. ^. M, ot 13, 15 and 17) 4- 12= 3315 + 12 = 0327
^ ^ '^•

2. L. C. M. of 33, 27 and 30 = 2070.

Number of times = If^^^SO
__

2970 - '*^-

> 3. Length of rail = H. C. F of 2Snoq f, ^ , „r,.
ft. = 11 ft.

'^. i^. 01 zdUI3 ft. and 17765

Number of rails = 6 x AiL^52?_^ + 2 x 17765

= 44496.

4. Since H. C. F. of 210 and 330 ^ 30 • ii
lutions of small wheel — 7 v.., w .' •' ^^ ^^^°-

'^^ ^^eel _ 7 revolutions of large one.
o. Ihe prime factors of 2772 — 9 9 q q r, .

The req,m.ed „„,nbe.. must be dWisiMeW 12 "^ ""
their L. C. M. 2 X 2 X 8 X

g''™
^^^

'2. andiiave

.". one number = 12 x 3 = 3q.
*' a second = 12 x 7 = 84*

"a third =12x11 =.132.

II.

2. We must here find the 3 smallest and also the 3Ia.|est numbers that will exactly divide 600.
'

The prime factors of 600 ==2, 2, 2, 3, 5 and 5.
.. *^^e3«oinllcstbagsmustlioldlbu..2bu. or3bu

-
•

>-. .-.. 01 5, ^^ ama Vo =. 22 x 75 = 1(J50
•*• smallest suai = !|5lG0Q,


